BOLT
(x44)

DAWSON JONES

STORE FIXTURES

BOTTOM TABLE (x|) MIDDLE TABLE (xI)

TOE KICK (x2)

MIDDLE STAND PANEL (x2)

E KICK

TOP STAND SIDE MIDDLE STAND SIDE SIDE TO




. BOTTOM TABLE ASSEMBLE |. Connect toe kick to side toe kick using bolts.

BOTTOM TABLE (x!) 2. Insert and tighten #10 cam locks.

TOE KICK (x2) 3. Repear | & 2 connect other toe kick to side toe kicks.

SIDE TOE KICK (x2) 4 Areach ol : »
#10 CAM LOCK (x!2) .Attach glides on the toe kick.

5. Connect toe kicks to bottom table using bolts.
gcl:_)lgE(T; 42)) 6. Insert and tighten #10 cam locks.
/. Sit bottom table on floor.

2. MIDDLE TABLE ASSEMBLE

MIDDLE TABLE (x ) |. Connect middle stand panel to middle stand side panel using bolts.
MIDDLE STAND PANEL (x2) 2. Insert and tighten #10 cam locks.

MIDDLE STAND SIDE PANEL (x2) 3. Repeat | & 2 connect other middle stand panel to middle stand side panels.
#10 CAM LOCK (x16) 4. Connect middle stand to bottom table using bolts.

BOLT (x!16) 5. Insert and tighten #10 cam locks.

#10 SCREW CAP (x4) 6. Connect middle table to middle stand using bolts.

/. Insert and tighten # 10 cam locks.
8. Install # 10 screw caps.




3. TOP TABLE ASSEMBLE

|. Connect top stand panel to top stand side panel using bolts.

TOP TABLE (x!) 2. Insert and tighten #10 cam locks.

$8E §$QII:IIED) EIIQE)I\IIEEI!’_A(I}\(IZE)L (x2) 3.Repeat | & 2 connect other top stand panel to top stand side panels.
5 4 iddle table using bolts.

#10 CAM LOCK (x| 6) Connect top stand to middle table using bolts

BOLT (x!6) 5. Insert and tighten #10 cam locks.

6. Connect top table to top stand using bolts.
4
W ALREPE GAT 06) /.Insert and tighten #1/0 cam locks.

8. Install # 10 screw caps.




